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Los op :  

 x² + 2xy + y² - 42x - 42y + 360 = 0 

 y = x² 

Oplossing 

x² + 2xx² + x²x² -42x –42x² +360 = x^4 + 2x³ -41x² -42x + 360 = 0 

Horner toepassen ( 1 en -1 zijn geen oplossingen 

 1 2 -41 -42 360 

2  2 8 -66 -216 

 1 4 -33 -108 144 

3  3 15 -78 -360 

 1 5 -26 -120 0 = 3 is 1ste oplossing 



x³ + 5x² -26x -120 

Horner 

1 5 -26  -120 

4  4 36  40 

1 9 10  -80 

5  5 50  120 

1 10 24  0  5 is de 2de oplossine 

 

x² +10x +24 = 0 

Product 24 som -10 , dus -4 en -6 

Dus X = -6 , -4 , 3 , 5  

Dus (-6,36) ( -4,16) ( 3,9) ( 5 , 25) 


